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B 1.
Let f(x)=c, where ceR. Show that f'(x)=0.

BIE 2.
Let f(x)=Xx.Show that f'(x)=1.
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BIE 3.
Let f(x)=x".Show that f'(x)=2x.

BIE 4.

Let f(x)=x", where neN. Show that f'(x)=nx"".
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BIRE 5. (hsEif] 1-1)
Let f(x)=a". Show that f'(x)=a"Ina.

B 6. (FaEEaEf 1-1)
Let f(x)=log, x. Show that f'(x)=

1
xlna "
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BIE 7. CRESIR 1-2)
Show that (SinX)' =coSX.

BIE 8. (FEHEIf 1-2)
Show that (COSX)"=-sinx.
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BIRE 9. (KiEHH 1-3)

Let f(x) be differentiable at X = x,. Show that f(X) is continuous at X = X,.

PI7E 10. (FaE#HH] 1-3)

Let f(x) be continuous at X =x,. Must f(X) be differentiable at x = X, ?
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B 11. (REHEB 1-4)
If f'(2) =2, find the following limits.
f(1+6:]])_ f(2) @) lim f(L+4h)— f(@1-7h)

h—0 h

(1) lim

h—0

BIRE 12. (FaEEHEIH] 1-5)
If f(1)=0 and f'(2)=3, find Ihl_rB

f(1—h)
6h
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65) EAIkH m(u%)n cR
¥ 5 I ) 4 AR mm%)n f
(6) e MR HARES > HENE 2.718281828...

2. BATEHEELHARYE

(1) BREEEE : f(x)=¢"; HREBIE () =¢

(2) ERBWEP () =log, x=Inx ; HIFHMHE f’(x):%
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